OUT360R—K &%l #4125 Oil Level Monitoring

OUT360R
Level Monitoring

Line:~230V,3VA

KA Application

OUT360R-K R&FIHALIEAR AFE R T -

AEEREN

RIETEZEHL

RE TR ESEHL

Y EBYUAALT R TE R R P

OUT360R-K Z 3 7 [EAEH LML SRAL AR AL R 540
=, FIARERENRAL, BRI SEE
ERERRRIGAHAIERR, THEEHIGEERTE
R .

BEBRREHBERNE, LHEE LD Sx. Hi
(LR T HALERAY 25% (EPIM&‘FZ’\J 7om) B, TEREE
LED =5, IERY 120 #08k 90 #f5, 4RER BRI H L3R
FELEDN; SHNkER ﬁﬁ LED ATHER, 4AER
IERT 38 R BARRE, éi‘é LED =%, HiiHF#=
ATE RN H B P
OUT360R-K is intended for systems requiring oil level
monitoring and alarm, mainly used for Piston compressor,
scroll compressor, and built-in oil separation screw
COmMpressor.

OUT360R-K uses a Hall-Sensor to measure the oil level.
Unaffected from foaming oil or light a magnetic float changes
its position according to the oil level. The hall sensor converts
these magnetic field changes into an equivalent signal, which
is used by the integrated electronic controller to monitor the
actual oil level by LEDs. If the oil level drops into the yellow
zone and after a delay time of 90 or 120seconds,OUT360R-K
generates an alarm signal, the alarm contact (SPDT)
changes into alarm state and the green Led OFF. The alarm
contact may be used to shut down the compressor. If the oil

level comes back to normal, the Alarm will be reset.

RIS

COLDAR

Sight-Glass Level Control Zones

25% —

LEDs Status Alarm

L ] Qil level above 30% relay ON

L] Oil level below 25%relay ON  [ie2952)
Oil level below 25% relay OFF | Alarm

OUT360R-K1/K2

2 R~FB 1 Dimension drawing1 [mm]

WI360RM L8

12k 7~ E & Wiring diagram

AC 50/60Hz 230

I

L | (BN)#® 11 |GV
OUT360R
N |(BU)EE 12 |(PK)#2 14 |(cc)iE
H1 H2
Alarm OK

Shanghai Goldair Electric System Co.,LTD Tel:+86 21 67697100 Fax:+86 21 67697007 E-mail: sales@goldair.com.cnHome: www.goldair.com.cn




HARS# Technical Data

COLDAR

ke B £ Supply voltage

AC 50/60Hz 230V+15%.. -20%3VA

INME/ET7 /R E Ambient/Storage temperature

-30_+70°C

Y2 Humidity

10 95%, Jc& 2 No condensation

7 BB E Medium temperature

Max.+100°C, Max.+120°C(<720h)

RESHAL Alarm oil level 25%+5%
Pk 2[5 Reset hysteresis 8%+3%
RELERT Delay Alarm
OUT360R-K1 120S+20S
OUT360R-K2 90S+15S
TAEAMIRE 77 Working/Test pressure 60bar/69bar

i H 4k E8 82 Relay contact (SPDT)

AC15: 2.5A,250VAC
DC12: 5A,24VDC

ZEFEE S Connection type

515 AWG20#En 4R  L=2 2K Cable 5xAWG20,
L=2m, colure coded

{RIFZELR Protection class

IP65(EN 60529)

###} Materials

244 Aluminum; PA6/PA66+GF

ST R Permitted oils

*Tlﬁﬁr%fuﬁﬁ /E Tg/d“ ]J

Standard mineral and ester oil, without additive

#1745 FR Medium compatibility

HFC,HCFC,CO2

£ 21 E Mounting position

IKFE LI +1°Horizontal, +/- 1°

E &£ Weight

£90.8kg (& F320 &EfCsR)
About 0.8kg(including Adapter F320)

17855 OUT360R-K1
OUT360R-K2

22G15 360R K1
22G15 360R K2

SMERSTE 2 (% £ OUT168 i & 1L )Dimension drawing 2 (Install OUT168 valve)

Mx20/) & 238

t*&%

,IGFMERBE FONE RUHTEE RERME
ﬂwwwwb%éﬂ%siﬁﬂﬁﬁﬂﬁﬁﬁo

2, gﬁggﬂ FOTIGOK L HREHL, FEATH

IERRNEENE, SATEMT AL, Nand BHRLEL

4 ETALARE, BETLARAERIAIEEE,
ERLRE#TE

Shanghai Goldair Electric System Co.,LTD Tel:+86 21 67697100 Fax:+86 21 67697007 E-mail: sales@goldair.com.cnHome: www.goldair.com.cn




COLDAR

EEC ARt FiRR
. B2EE YD BEEE(Y2)
% 2 i=a =l 2152 N
RIS Type ##%& Description tﬁa%fff Height (Y1)-without | Height (Y2)With #7E Note
ength(X) OUT168 OUT168
3FLIE= (TBEEHR OUT168) SMER~TE A
F320 Flange adapter 3-hole(Can't connect 20 56 -- Dimension
ouT168) drawing1
3-/4FLEZ (REEE OUT168 1Hi%E)
Flange adapter 3-/4-hole(Only connect
0ouUT168)
INKAR IS A8 M6X20 4 BR-Bk4 FE 4R AL A SR 2
168F34 Small head diameter hexagonal M6x20 19 -- 80 Dimension

4pcs-connected compressor

AEENA7A M6x35 3 Fi-Bkzh OUT168 A
Stainless steel hexagonal M6x35
3pcs-connected OUT168

drawing 2

GOA34F 3-14 FL3k= Flange adapter 3-/4-hole 45 81 106

1-1/4”-12 UNF-2B hEd 8 XiEfc ik

GOA114-38 | Rotalock adapter 1-1/4-12 UNF-2B 38 74 99
1-1/8"-18UNEF-2A SMZLL

GOA118-26 | gerew adaptert-1/8"-18UNEF-2A 26 62 87
finc 2! 1/8"-18UNEF-2A SMZ4L

GOA118CSH | Screw adapter1-1/8"-18UNEF-2A 96 132 157
(Lengthen)
3/4"-14NPTF [EI$#ESNEIRLL

GOA34-46 | gerew adapter3/d™-14NPTF 30 66 9

_ ”_ - > iJ.'Il A3 N
GOA134-42 | 1-3/4-12 UNF-2B HEse i Ziafe sk 42 78 103

Rotalock adapter 1-3/4"-12 UNF-2B

0UT168 &1k 1 GEBEC )

0UT168 i A LR A M s 22 5 E IR A . KM S5ERRE, EREFEENTTLIAIRMELLR, ha

ISR THE B, MAFEXNERN PR ERZT .

1 BOUERL R R R : IAFFEEAR LR =5 M6 M7 AiZie, EERRESFLRINMEE B dnest, BHEABEHMR (BEHEKRSERED

MERSITEZ MR L, WBEREE, HEREBE 75N M; ARR=FLRIRAIEROXME 0UT168 FRIIEIERE BavtrCL, EE=

M6 12ie, BABELLRAREKEMNE (RIEELDD , KEETBETE1 , BESTR CEIEERLH 0 BB R RRM)
2, EZERRN A HEEAEREN, EIFT T BTHEKEX1" , FHREHEL, 78R,

3\ OUT168 iRAELEIRL FIAFT RS, HEEN, SLHRTEE, B8 2 MUERRSIRESHTEZEXHF, TSRO R
T, ERGEEEFEMISNERE, Bl 2 ML RRSIERS R 4 BAG @I 5 B) EXSTFRES, REEEE
TESE2ITE ZERAEE.

OUT168 Cut-off valve is utilized as oil circuit blockage, and installed between oil level regulator and adapter, which could be
switched off when maintenance needs and replacement of oil level regulator. And it is not necessary to drain the oilwithin the
COMpressor.

1. Install OUT168 Cut-off valve horizontally, and valve cap on the left, tighten bolts.

2.0UT168 cut-off valve is defaulted as open status when out factory.

3.When it needs technique maintenance, Firstly, remove the valve cap, and then tighten the upper and lower valve spool
clockwise until completely closed. Also, could remove oil level monitor to maintenance, keep oil level monitor in place after
maintenance, then turn the spool of the two stop valves anticlockwise about 4 rounds (not exceeding 5 rounds)to the completely
open status. Ultimately, tighten the valve cap completely again to a permanent seal.

K15IEBE Caution
1. NEEE: THRTIZEENREN, REHA. NREEEE 2 FHEEMIEWM, ERNEE.

Application Considerations: Check the flexibility of the swing arm to follow the oil level regularly. If the magnetic swing arm float
is adsorbed by black grease, please clean it in time.

2. EEHRERFHINE T AN~ RRE0IR, 1550 GOLDAIR ARIHITHRIESEER, FENIRIZBERNE, RBAEMNA
18 ™A, GOLDAIR NEIBRIEF=MAIREIEZE, FEREBERFERZ~RAIM~ZHARNRE. FLEEEMERER. BN, B
SRRY. SERREY. FISTRY. ESTIEAY. MBS KRR RARE, HBEATRNRER . ERSA”RITEAERSENEAMEERE,
BfE GOLDA IR E#H B AT HER & & L ARE .

If any product quality issues are found under the premise of correct installation and use, please send them back to GOLDAIR for
warranty or replacement. The warranty period is as agreed in the contract, and if there is no agreement, it is 18 months.

GOLDAIR shall not be liable for the round-trip shipping costs of the warranty product or for any incidental losses to property or
personnel that may arise from the use of the product.

Shanghai Goldair Electric System Co.,LTD Tel:+86 21 67697100 Fax:+86 21 67697007 E-mail: sales@goldair.com.cnHome: www.goldair.com.cn




